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380+ Free Logical Reasoning Questions and 
Answers for CLAT Exam at Smartkeeda 

CLAT REASONING QUIZ 43 

Directions: Read the following questions carefully and choose the right 
answer. 

1. Find the odd one amongst the choices 

A. LAJNIRB  B. OTATOP  C. OTAMOT  D. AVAUG 

2. Find the missing term of the following series. 

ZSD, YTC, XUB, WVA, ? 

A. VZZ   B. ZVX  C. VWZ  D. VZX 

3. In the following question select the related word from the 

given alternatives. 

Joy : Delight : : Gloomy : ? 

A. Dull  B. Vague  C. Plain  D. Silent 

4. If HOUSE is coded as KRXVH, then the code for CASTLE will be 

A. FDWVOH  B. FDVWNH  C. FDVWNG  D. FDVWOH 

5. Hema, who is Sahil's daughter, says to Anjali, "Your mother, 

Rekha, is the younger sister of my father Sahil". How is Sahil's 

father related to Anjali? 

A. Father  B. Grandfather C. Father - in – law   D. Brother 

6. If South east becomes North, then what will South west 

become? 

A. East  B. West  C. North  D. South 



 

 

7. An accurate clock shows 8 O' clock in the morning. Through 

how many degrees will the hour - hand rorate when the clock 

shows 2 O' clock in the afternoon? 

A. 30°   B. 180°  C. 90°   D. 150° 

8. If today is Monday, which day of the week will it be after one 

year? 

A. Tuesday  B. Wednesday C. Monday  D. Either (a) or (b) 

9. Some children are sitting in a row. If Karan is shifted two 

positions to his right, he will become 13th from the right end. If 

he is shifted 3 positions to his left, he will be 12th from the left 

end. How many children are sitting in this row? 

A. 29   B. 30   C. 28   D. 31 

10. A, P, R, X, S AND Z - are sitting in a row. S and Z are in the 

centre. A and P are at the ends. R is sitting to the immediate left 

of A. Who is to the immediate right of P? 

A. A   B. X   C. S   D. Z 

 

 

 

  



 

 

Correct answers: 

1 2 3 4 5 6 7 8 9 10 

D C A D B A B D A B 

 

Explanations: 

 

1. 

 

Reverse the order to the letters in each group, we get 

 

BRINJAL, POTATO and TOMATO, which are vegetables, and GUAVA is not (it 

is a fruit) 

 

Hence, option D is correct. 

 

2. 

 

Pattern of the given series  

 

 
 

Hence, option C is correct. 

 

3. 

 

Joy is related to delight, Gloomy is related to Dull. 

 

Hence, option A is correct. 



 

 

4. 

 

Each letter is coded as third next letter. 

 

So, 

 

       
 

Hence, option D is correct. 

 

5. 

 

 
 

So, we can clearly observe from the figure that Sahil's father is grandfather 

of Rekha. 

 

Hence, option B is correct. 

 

 

 



 

 

6. 

 

 
 

turn it by 135° anti - clock wise. 

 

So, South - west become East. 

 

Hence, option A is correct. 

 

7. 

 

Angle traced by hour - hand in 6 hours = 

( 
360 

× 6 ) 

o 
= 180° 

12 
 

 

Hence, option B is correct. 

 

8. 

 

The given year is a leap year or a non leap year is not given, 

 

So, the answer is either (a) or (b). 

 

Hence, option D is correct. 

 



 

 

9. 

 

Initially there will be (13 + 2 – 1 = 14) students to the right of Karan. And 

finally there will be (12 + 3 – 1 = 14) students to the left of Karan. Hence 

there will be a total of 29 students in the row. 

 

Hence, option A is correct. 

 

10. 

 

The arrangement is as follows: 

P  X    S/Z    Z/S   R    A 

 

Therefore, immediate right of P is X. 

 

Hence, option B is correct. 
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